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Instructions

for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Answer

Question 1 from Part A (15 marks) and any

three questions from Part B (20 marks each).

3. Answers may be written cither in Bnglish or Hindi:
but the same medium ghould be used throughout the

paper.
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Part A (Answer any one) (15 marks)
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1. Write a long note on any one of the following:

(2) A critical analysis of Piore and Sabel’s Neo-

Smithian analysis of Post-Fordism.

(b) Commoditisation of Care, Feminisation of Migration

and Transnational Care Chains,
(¢) Different aspects of analysis of Gig Work.

(d) The Dynamics of Value Chain Governing
Structures with causal explanations — Examples

from any one industry.
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Part B (Answer any three) (20 marks each)
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Discuss the central features of the Fordjgt industrial
organisation. Explain the ‘fit’ between mgagg production
and mass consumption in the Fordijst regimes along
with the underlying institutional featyreg that enabled

this.
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Why did Stephen Hymer think that in spite of their
similarity with respect to large size and vast
international operations, the Multinational Corporations
(MNCs) has little to do with the mercantile
organisations like the East India Company?
Discuss. Explain why the MNCs chose a path
of capital deepening and continuous innovation and

how their internal structure was conducive to this

strategy.
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“The distinction between formal and informal labour
1s becoming increasingly blurred.” Analyse the
above statement with reference to the debates
on informalisation as well as the various forms

of informalisation in the contemporary global

economy.
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5. Whydoes David Flarvey consider the neo-liberal state
inherently unstable? Briefly discuss the neo-

conservative answer to this instability,
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6. What is meant by the term “financialization of the
global economy” and what are its essential features?
Explain the major transformations in ‘corporate

governance’ and ‘managerial culture’ since the advent

of “financialisation’.
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"The ability of the powerful to limit environmental
degradation by the less powerful cannot be expected

to offset the failure of the less powerful to limit

Cnvironmenta] degradation by the powerful.” (Rause
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e). Give r -
i reasons for the above statement along
an expl 1
planation of the concept of power weighted

soci 151
cial decision rule.
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Explain why an adequate framework to understand

gender dimension within a household must distinguish

between the “perception” of interest of the different

a more 0bj ective notion of their respective

agents and
wellbeing. Explain the relevance of the ‘co-operative
conflict’ perspective in this context, Briefly

n extension of entitlement analysis

discuss how a
legitimacies can enrich such

incorporating perceived

a framework.
P.T.O.
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